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CHAPTER 1

Limits, Alternatives, and Choices

Chapter 1 introduces economics—the study of how people decide how to use scarce productive resources to satisfy economic wants.  The chapter first describes the three key features of the economic perspective.  This perspective first recognizes that all choices involve costs and that these costs must be involved in an economic decision.  The economic perspective also incorporates the view that to achieve a goal, people make decisions that reflect their rational self-interest.  The third feature considers that people compare marginal benefits against marginal costs when making decisions and will choose the situation where the marginal benefit is greater than the marginal cost.

Economics relies heavily on the scientific method to develop theories and principles to explain the likely effects from human events and behavior.  It involves gathering data, creating models, and making generalizations.  In essence, economic theories and principles (and related terms such as hypotheses and models) are generalizations.  They are imprecise statements and subject to exceptions because economists cannot easily conduct controlled laboratory experiments to test the validity of the generalizations.  Economic theories and principles are simplifications—approximations of a complex world—for analyzing problems and for finding solutions to these problems.

Studies in macroeconomics focus on the whole economy, or large segments of it, and investigate such issues as how to increase economic growth, control inflation, or maintain full employment.  Studies in microeconomics target specific units in the economy, and conduct research on such questions as how prices and output are determined for particular products and how consumers will react to price changes.

The central problem of economics for individuals and societies is based on two fundamental facts.  First, individuals and societies have unlimited economic wants.  The main purpose of economic activity is to satisfy these wants.  Second, economic resources are limited or scarce.  It is these resources—land, capital, labor and entrepreneurial ability—that are used to produce the goods and services that ultimately satisfy these economic wants.  The economic problem for both individuals and societies arises from this continual struggle to decide how best to use limited productive resources to satisfy insatiable economic wants.

The production possibilities curve is used to illustrate the economic problem for society.  It is a valuable device for illustrating the meaning of many concepts defined in the chapter―scarcity, choice, tradeoffs, opportunity cost, efficiency, unemployment, and economic growth.  It can also be applied to many real economic situations, as shown in the examples in the text.
· CHECKLIST

When you have studied this chapter you should be able to

· Write a definition of economics.

· Describe the three key features of the economic perspective.

· Give applications of the economic perspective.

· Identify the elements of the scientific method.

· Define hypothesis, theory, principle, law, and model as they relate to economics.

· Discuss how economic principles are generalizations.

· Explain the “other-things-equal” assumption (ceteris paribus) and its use in economics.

· Compare microeconomics and macroeconomics.

· Explain the economic problem for individuals in terms of limited income and unlimited wants.

· Use a budget line to illustrate the economic problem facing individuals.
· Explain the economic problem for society in terms of scare resources and economic wants.

· State the four assumptions made when a production possibilities table or curve is constructed.

· Construct a production possibilities curve when given the data.

· Define opportunity cost and utilize a production possibilities curve to explain the concept.

· Explain how the law of increasing opportunity costs is reflected in production possibilities curve.

· Explain the economic rationale for the law of increasing opportunity costs.

· Use marginal analysis to explain what determines the optimal allocation of resources.

· Use a production possibilities curve to illustrate unemployment and economic growth.

· Use a production possibilities curve to illustrate economic growth.
· CHAPTER OUTLINE

1. Economics is the study of how people, institutions, and societies make choices under the conditions of scarcity.

2. The economic perspective has three interrelated features:
a. First, it recognizes that scarcity requires choice and all choices entail a cost;
b. Second, it views people as rational decision makers who make choices based on their self-interests;
c. Third, it uses marginal analysis to assess how the marginal costs of a decision compare with the marginal benefits.
d. Applying the Analysis (Fast-Food Lines).  The economic perspective can be illustrated with behaviors in fast-food restaurants.  When people enter the restaurant and see several lines, they typically make a rational choice to select the shortest one to minimize their time cost.  If a new line opens up, they have to decide if the extra benefit of switching lines is worth the extra cost of making the switch.
3. Economic methodology relies on the scientific method.

a. Hypotheses are propositions that are tested and used to develop economic theories.  Highly reliable theories are called principles.  Theories and principles are meaningful statements about economic behavior or the economy that can be used to predict the likely outcome from an economic action or event.  Models are created when several economic principles are used to explain or describe reality.

b. Each principle or theory is a generalization that shows a tendency or average effect.

c. The “other-things-equal” (ceteris paribus) assumption is used to limit the influence of other factors when making a generalization.

d. Many economic principles or models can be illustrated graphically.

4. Economic analysis is conducted at two levels.

a. Microeconomics studies the economic behavior of individuals, particular markets, firms, or industries.

b. Macroeconomics looks at the entire economy or its major aggregates or sectors, such as households, businesses, or government.

5. The economic problem for individuals is that income is limited and economic wants are unlimited.  A budget line shows graphically the different combinations of two products a consumer can purchase with a particular money income.  Its negative slope illustrates the economic problem for individuals and shows unattainable combinations of the products, tradeoffs and opportunity costs, and the need for choice.  Changes to income affect the choice set.  An increase in the money income of the consumer will shift the budget line to the right and a decrease in money income will shift the budget line to the left.

6. The economic problem for societies is that economic wants are unlimited and the economic resources for society for satisfying those wants are scarce.

a. Economic resources are classified as land, capital, labor, and entrepreneurial ability.
b. The payments received by those who provide the economy with these four resources are in the form of rental income, interest income, wages, and profits, respectively.

7. The production possibilities model indicates the alternative combinations of goods and services a society or an economy is capable of producing when it has achieved full employment and productive efficiency. The four assumptions usually made when a production possibilities model is constructed are full employment and productive efficiency, fixed resources, fixed technology, and that two products are being considered.
a. The table illustrates the fundamental choice every economy must make:  what quantity of each good it must sacrifice to obtain more of another good.

b. The data in the production possibilities table can be plotted on a graph to obtain a production possibilities curve.

c. The opportunity cost of producing an additional unit of one product is the amount of other products that are sacrificed.  The law of increasing opportunity costs reflects that the opportunity cost of producing an additional unit of a product (the marginal opportunity cost) increases as more of that product is produced.

(1) The law of increasing opportunity costs results in a production possibilities curve that is bowed out from the origin.

(2) The opportunity cost of producing an additional unit of a product increases as more of the product is produced because resources are not completely adaptable to alternative uses.
d. The optimal allocation of resources for society is determined where the marginal costs equal the marginal benefits.
(1) The marginal-cost curve for a product rises because of the law of increasing opportunity costs; the marginal-benefit curve falls because the consumption of a product yields less and less benefits.
(2) There will be underallocation of resources when the marginal benefit is greater than the marginal cost, and overallocation when the marginal cost is greater than the marginal benefit.
(3) Efficiency in the allocation of resources is achieved when the marginal cost of a product equals the marginal benefit of a product.
e. Applying the Analysis (The Economics of War).  The production possibilities model can be used to discuss the economics of war.  Assume that just two goods, defense goods (horizontal axis) and civilian goods (vertical axis).  In a time of war, there will be a resource trade-offs because more resources will be devoted to defense goods and fewer to civilian goods.  Also, in a marginal-benefit and marginal-cost model for defense goods (with the quantity on the horizontal axis), equilibrium is achieved when MB=MC.  During a wartime period, the MB line for defense goods shifts rightward, changing the equilibrium and increasing the optimal quantity of defense goods.
8. Different outcomes will occur when assumptions underlying the production possibilities model are relaxed.  The economy may be operating at a point inside the production possibilities curve if the assumption of full employment and productive efficiency no longer holds.  In this case, there will be unemployment of resources and production will not occur in the least costly way.

a. The production possibilities curve can move outward if the assumption of fixed resources or the assumption of no technological change is dropped.

(1) Economic growth can occur when there is an expansion in the quantity and quality of resources.

(2) It can increase when there is technological advancement.

b. Present and future choices.  The combination of goods and services an economy chooses to produce today helps determine its production possibilities in the future.

· HINTS AND TIPS

1. The economic perspective presented in the first section of the chapter has three features related to decision making:  scarcity and the necessity of choice, rational self-interest in decision making, and marginal analysis of the costs and benefits of decisions.  Although these features may seem strange to you at first, they are central to the economic thinking used to examine decisions and problems throughout the book.

2. The chapter introduces an important pair of terms:  microeconomics and macroeconomics.  Make sure you understand what each term means.
3. The production possibilities graph is a simple and extremely useful economic model.  Practice your understanding of it by using it to explain the following economic concepts:  scarcity, choice, opportunity cost, the law of increasing opportunity costs, unemployment, and economic growth.
4. Opportunity cost is always measured in terms of a foregone alternative.  From a production possibilities table, you can easily calculate how many units of one product you forgo when you get another unit of a product.

· IMPORTANT TERMS

Note:  See Glossary in the back of this Study Guide for definitions of terms.

	economics

economic perspective

opportunity cost

principles

“other-things-equal” assumption (ceteris paribus)

microeconomics

macroeconomics

aggregate

economic problem

budget line

constant opportunity cost

economics resources

land
	utility

marginal analysis

scientific method

labor

capital
investment

entrepreneurial ability

factors of production

consumer goods

capital goods

production possibilities curve

law of increasing opportunity costs

economic growth
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· FILL-IN QUESTIONS
1. Economics is the study of how people, institutions, and society make choices under conditions of (abundance, scarcity) _______________.
2. The economic perspective recognizes that choice has an opportunity (benefit, cost) _______________.  “There is no such thing as a free lunch” in economics because scarce resources have (unlimited, alternative) _______________ uses.

3. The economic perspective also assumes that people make choices based on their self-interest and that they are (irrational, rational) _______________.  It also is based on comparisons of the (extreme, marginal) _______________ costs and benefits of an economic decision.

4. Economics relies on the (model, scientific) ______________ method.  It involves the gathering of (facts, theories) _________, and the formulation of (data, hypotheses) _____________.  These are then tested to develop (facts, theories) _____________.

5. Statements about economic behavior that enable the prediction of the likely effects of certain actions are economic (facts, theories) ___________.  The most reliable of these, those with strong predictive accuracy, are called (hypotheses, principles) ___________.  Simplified representations of how markets or the economy works based on combinations of economic principles are called (policies, models) ____________.

6. Economic principles are often imprecise quantitative statements or (fallacies, generalizations) __________________ about people’s economic behavior.

7. When economists assume that other factors are held constant and do not change when studying an economic relationship, they are using the (post hoc, other things equal) _______________ assumption.

8. The study of the total output of the economy or the general level of prices is the subject of (microeconomics, macroeconomics) _______________, whereas the study of output in a particular industry or of a particular product is the subject of _______________.

9. The collection of specific units that are being added and treated as if they were one unit is an (assumption, aggregate) _______________.

10. The economic problem for individuals arises because society’s economic wants are (limited, unlimited) ________________ and income is ________________.

11. Consumers want to obtain goods and services that provide satisfaction, or what economists call (resources, utility) ____________.  Some consumer wants that meet this objective are considered (capital, necessities) _______________, while others are considered (labor, luxuries) _______________.

12. A line that shows the various combinations of two products a consumer can purchase with a specific money income, given the products’ prices is a (budget, marginal cost) _____________ line.  When a consumer’s income increases, the line shifts to the (left, right) ____________, while when a consumer’s income decreases, the line shifts to the __________________.
13. The economic problem for society is the use of (unlimited, scarce) _______________ resources to attain the maximum fulfillment of _______________ economic wants.

14. The four types of scarce resources for society are

a. ___________________________________

b. ___________________________________

c. ___________________________________

d. ___________________________________

15. When a production possibilities table or curve is constructed, four assumptions are made:

a. ___________________________________

b. ___________________________________

c. ___________________________________

d. ___________________________________

16. In a two-product world, the quantity of the other good or service an economy must give up to produce more housing is the opportunity (benefit, cost) _______________ of producing the additional housing.
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Following is a production possibilities curve for capital goods and consumer goods.

a. If the economy moves from point A to point B, it will produce (more, fewer) _______________ capital goods and (more, fewer) _______________ consumer goods.

b. If the economy is producing at point X, some resources in the economy are either (not available, unemployed) _____________ or (underemployed, overemployed) ______________.

c. If the economy moves from point X to point B (more, fewer) _______________ capital goods and (more, fewer) _______________ consumer goods will be produced.

d. If the economy is to produce at point Y, there must be (unemployment, economic growth) _______________.  This can occur because of a resource supply (decrease, increase) _______________ or a technological (decline, improvement) _______________.

18. Law of increasing opportunity costs explains why the production possibilities curve is bowed (out, in) _______________ from the origin.  The economic rationale for the law is that economic resources (are, are not) _______________ completely adaptable to alternative uses.

19. Technological advances can shift a nation’s production possibilities curve (inward, outward) __________ because the effects lead to (economic growth, unemployment) _____________________.

20. The more an economy consumes its current production, the (more, less) _______________ it will be capable of producing in future years if other things are equal.

· TRUE–FALSE QUESTIONS
Circle T if the statement is true, F if it is false.

1. Economics is concerned with how people, institutions, and society make choices under conditions of scarcity.
T   F

2. From the economic perspective, “there is no such thing as a free lunch.”
T   F

3. Rational self-interest is the same thing as being selfish.
T   F

4. The economic perspective views individuals or institutions as making rational choices based on the marginal analysis of the costs and benefits of decisions.
T   F

5. The scientific method involves the observation of real world data, the formulation of hypotheses based on the data, and the testing of those hypotheses to develop theories.
T   F
6. Economic principles enable us to predict the likely economic consequences of many human actions.
T   F

7. The most reliable economic theories are often called economic principles.
T   F
8. An economic model is simply an adding up of economic facts about an economic event.
T   F
9. The “other-things-equal” or ceteris paribus assumption is made to simplify the reasoning process.

T   F

10. Microeconomic analysis is concerned with the performance of the economy as a whole or its major aggregates.
T   F

11. Macroeconomic analysis is concerned with the economic activity of specific firms or industries.
T   F

12. The economic problem for the individual is that income is limited and economic wants are unlimited.

T   F
13.  A consumer is unable to purchase any of the combinations of two products which lie below (or to the left) of the consumer’s budget line.
T   F
14.  An increase in the money income of a consumer shifts the budget line to the right.
T   F

15. The conflict between the scarce economic wants of society and its unlimited economic resources gives rise to the economic problem.
T   F

16. Money is a resource and is classified as “capital.”

T   F

17. From the economist’s perspective, investment refers to the purchase of capital goods.
T   F

18. The payment to entrepreneurial ability is interest income.
T   F

19. Resources are scarce because society’s material wants are unlimited and productive resources are limited.
T   F

20. The opportunity cost of producing antipollution devices is the other goods and services the economy is unable to produce because it has decided to produce these devices.
T   F

21. The opportunity cost of producing a good tends to increase as more of it is produced because resources less suitable to its production must be employed.
T   F

22. The economic rationale for the law of increasing opportunity costs is that economic resources are fully adaptable to alternative uses.
T   F

23. Efficiency in the allocation of resources is determined by assessing the marginal costs and benefits of the output from the allocation of resources to production.
T   F

24. Economic growth means an increase in the production of goods and services, and is shown by a movement of the production possibilities curve outward and to the right.
T   F

25. The more capital goods an economy produces today, the greater will be the total output of all goods it can produce in the future, other things being equal.
T   F

· MULTIPLE-CHOICE QUESTIONS
Circle the letter that corresponds to the best answer.

1. What statement would best complete a short definition of economics?  “Economics is the study of

(a) how businesses produce goods and services”
(b) the efficient use of scarce productive resources”
(c) the equitable distribution of society’s income and wealth”
(d) the printing and circulation of money throughout the economy”
2. The idea in economics that “there is no such thing as a free lunch” means that

(a) the marginal benefit of such a lunch is greater than its marginal cost

(b) businesses cannot increase their market share by offering free lunches

(c) scarce resources have alternative uses or opportunity costs

(d) consumers are irrational when they ask for a free lunch

3. The opportunity cost of a new public stadium is the

(a) money cost of hiring guards and staff for the new stadium

(b) cost of constructing the new stadium in a future year

(c) change in the real estate tax rate to pay off the new stadium

(d) other goods and services that must be sacrificed to construct the new stadium

4. A major feature of the economic perspective is

(a) equating rational self-interest with selfishness

(b) comparing marginal benefits with marginal costs

(c) the validity of normative economics for decision making

(d) the recognition of the abundance of economic resources
5. From the economic perspective, when a business decides to employ more workers, the business decision maker has most likely concluded that the marginal

(a) costs of employing more workers have decreased

(b) benefits of employing more workers have increased

(c) benefits of employing more workers are greater than the marginal costs

(d) costs of employing more workers are not opportunity costs because more workers are needed to increase production

6. The combination of economic theories or principles into a simplified representation of reality is referred to as an economic

(a) fact

(b) law

(c) model

(d) hypothesis
7. 
From the perspective of economists, which of the following would offer the highest degree of confidence for explaining economic behavior

(a) an assumption

(b) a speculation

(c) a correlation

(d) a principle

8. An economic principle states that the lower the price of a product, the greater the quantity consumers will wish to purchase. This principle is based on the critical assumption that

(a) economic analysis is normative

(b) the whole is not greater than the sum of the parts

(c) economic goals are complementary and not conflicting

(d) there are no other important changes affecting the demand for the product

9. Which would be studied in microeconomics?

(a) the output of the entire U.S. economy

(b) the general level of prices in the U.S. economy

(c) the output and price of wheat in the United States

(d) the total number of workers employed in the United States

10. When we look at the whole economy or its major aggregates, our analysis would be at the level of

(a) microeconomics

(b) macroeconomics

(c) necessities

(d) luxuries

11. An “innovator” is an entrepreneur who

(a) makes basic policy decisions in a business firm

(b) combines factors of production to produce a good or service

(c) invents a new product or process for producing a product

(d) introduces new products on the market or employs a new method to produce a product
12. When a production possibilities schedule is written (or a production possibilities curve is drawn) in this chapter, four assumptions are made.  Which is one of those assumptions?

(a) More than two products are produced.

(b) The state of technology changes.

(c) The economy has full employment and productive efficiency.

(d) The quantities of all resources available to the economy are variable, not fixed.


Answer Questions 13, 14, 15, and 16 based on the following graph for an economy.
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13. At point A on the production possibilities curve in the above illustration,

(a) wheat production is inefficient

(b) tractor production is inefficient

(c) the economy is employing all its resources

(d) the economy is not employing all its resources

14. Unemployment and productive inefficiency would best be represented in the graph by point:

(a) A

(b) B

(c) C

(d) D

15. The choice of point B over point A as the optimal product mix for society would be based on

(a) productive efficiency

(b) full employment of resources

(c) the law of increasing opportunity costs

(d) a comparison of marginal costs and benefits
16. Economic growth could be represented by

(a) a movement from point A to point B
(b) a movement from point B to point A
(c) a shift in the production possibilities curve out to point C
(d) a shift in the production possibilities curve out to point D
17. What is the economic rationale for the law of increasing opportunity costs?

(a) Full production and full employment of resources have not been achieved.

(b) Economic resources are not completely adaptable to alternative uses.

(c) Economic growth is being limited by the pace of technological advancement.

(d) An economy’s present choice of output is determined by fixed technology and fixed resources.

18. Which situation would most likely cause a nation’s production possibilities curve to shift inward?

(a) investing more resources in new plants and equipment

(b) eliminating discrimination based on race and ethnic background

(c) increasing international trade or incurring a trade deficit

(d) going to war with another nation and suffering a major defeat

19. The combination of products in society’s production possibilities table that is the most valued or optimal is determined

(a) at the midpoint of the production possibilities table

(b) at the endpoint of the production possibilities table

(c) where the marginal benefits equal marginal costs

(d) where the opportunity costs are maximized

20. The underallocation of resources by society to the production of a product means that the

(a) marginal benefit is greater than the marginal cost

(b) marginal benefit is less than the marginal cost

(c) opportunity cost of production is rising

(d) consumption of the product is falling

21. If there is an increase in the resources available within the economy,

(a) more goods and services will be produced in the economy

(b) the economy will be capable of producing more goods and services

(c) the standard of living in the economy will rise

(d) the technological efficiency of the economy will improve
Answer Questions 22, 23, and 24 on the basis of the data given in the following production possibilities table.
	
	Production possibilities (alternatives)

	[image: image5.png]MY WM Ve





	A
	B
	C
	D
	E
	F

	Capital goods
	100
	95
	85
	70
	50
	0

	Consumer goods
	0
	100
	180
	240
	280
	300


22. If the economy is producing at production alternative D, the opportunity cost of 40 more units of consumer goods is about

(a) 5 units of capital goods

(b) 10 units of capital goods

(c) 15 units of capital goods

(d) 20 units of capital goods

23. In the table, the law of increasing opportunity costs is suggested by the fact that

(a) greater and greater quantities of consumer goods must be given up to get more capital goods

(b) smaller and smaller quantities of consumer goods must be given up to get more capital goods

(c) capital goods are relatively more scarce than consumer goods

(d) the production possibilities curve will eventually shift outward as the economy expands

24. The choice of alternative B compared with alternative D would tend to promote

(a) a slower rate of economic growth

(b) a faster rate of economic growth

(c) increased consumption in the present

(d) central economic planning

25. If the production possibilities curve below moves from position A to position B, then

(a) the economy has increased the efficiency with which it produces wheat

(b) the economy has increased the efficiency with which it produces tractors

(c) the economy has put previously idle resources to work

(d) the economy has gone from full employment to less than full employment

· PROBLEMS
26. Use the appropriate number to match the terms with the phrase.

	1.  economics
	4.  marginal analysis

	2.  macroeconomics
	5.  scientific method

	3.  microeconomics
	


a. The study of how people, institutions, and society make choices under conditions of scarcity.

_____

b. Part of economics concerned with the whole economy or its major sectors.
_____

c. The comparison of additional benefits and additional costs.
_____

d. Deriving economic theories and principles from relevant economic facts.
_____

e. Part of economics concerned with the economic behavior of individual units such as households, firms, and industries (particular markets).
_____


2. Following is a list of resources. Indicate in the space to the right of each whether the resource is land (LD), capital (C), labor (LR), entrepreneurial ability (EA), or some combinations of these resources.

a. Fishing grounds in the North Atlantic
_____

b. A computer in a retail store
_____

c. Uranium deposits in Canada
_____

d. An irrigation ditch in Nebraska
_____

e. Bill Gates in his work in starting Microsoft

_____

f. The oxygen breathed by human beings

_____

g. An IBM plant in Rochester, Minnesota

_____

h. The food racks or shelves in a grocery store

_____

i. A machine in an auto plant
_____

j. A person who creates new computer software and uses it to start a successful business

_____

k. A carpenter building a house
_____

3. In the next column is a production possibilities table for two products, corn and cars.  The table is constructed using the usual assumptions.  Corn is measured in units of 100,000 bushels and cars in units of 100,000.

a. Following the general rules for making graphs (see the Appendix); plot the data from the table on the graph below it to obtain a production possibilities curve.  Place corn on the vertical axis and cars on the horizontal axis.


	Combination
	Corn
	Cars

	A
	0
	7

	B
	7
	6

	C
	13
	5

	D
	18
	4

	E
	22
	3

	F
	25
	2

	G
	27
	1

	H
	28
	0


b. Fill in the table below showing the opportunity cost per unit of producing the 1st through the 7th car unit in terms of corn units.
	Cars
	Cost of production

	1st
	_____

	2nd
	_____

	3rd
	_____

	4th
	_____

	5th
	_____

	6th
	_____

	7th
	_____


c. What is the marginal opportunity cost of the 3rd car unit in terms of units of corn?

___________

d. What is the total opportunity cost of producing 6 car units in terms of units of corn?

___________

4. The following graph is a production possibilities curve.  Draw on this graph
a. a production possibilities curve that indicates greater efficiency in the production of good A
b. a production possibilities curve that indicates greater efficiency in the production of good B

c. a production possibilities curve that indicates an increase in the resources available to the economy
· SHORT ANSWER AND ESSAY QUESTIONS

1. Define economics in both a less and a more sophisticated way.  In your latter definition, explain the meaning of economic “resources” and “wants.”
2. What are the three interrelated features of the economic perspective?

3. What is the economic meaning of the statement “there is no such thing as a free lunch”?

4. What is the difference between rational self-interest and selfishness?

5. How do economists use marginal analysis?

6. What are the elements of the scientific method?

7. What are the differences and similarities among hypotheses, theories, principles, and models?

8. Why do economists use the “other things equal” assumption?

9. Why are economic principles and models necessarily generalized?

10. What does it mean to say that economic principles can be used for prediction?

11. Explain the difference between microeconomics and macroeconomics.

12. Explain what the term “economic problem” means for the individual and society.
13. What are the four economic resources?  How is each resource defined?

14. What four assumptions are made in drawing a production possibilities curve or schedule?

15. What is the law of increasing opportunity costs?  Why do costs increase?

16. What determines the optimal product mix for society’s production possibilities?

17. How can unemployment be illustrated with the production possibilities curve?

18. What will be the effect of increasing resource supplies on production possibilities?

19. Describe how technological advances will affect the production possibilities curve.

20. Explain the tradeoff between goods for the present and goods for the future and the effect of this tradeoff on economic growth.

ANSWERS

Chapter 1  Limits, Alternatives, and Choices

FILL-IN QUESTIONS
1. scarcity
2. cost, alternative

3. rational, marginal

4. scientific, facts, hypotheses, theories

5. theories, principles, models

6. generalizations

7. other things equal (or ceteris paribus)

8. macroeconomics, microeconomics

9. aggregate

10. unlimited, limited

11. utility, necessities, luxuries

12. budget, right, left

13. scarce, limited

14. a. land or natural resources, b. capital, c. labor, d. entrepreneurial ability

15. a. there is full employment and productive efficiency; b. the available supplies of the factors of production are fixed; c. technology does not change during the course of the analysis; d. the economy produces only two products (any order for a–d)

16. cost

17. a. fewer, more; b. unemployed, underemployed; c. more, more; d. economic growth, increase, improvement

18. out, are not

19. outward, economic growth

20. less

TRUE–FALSE QUESTIONS
	1.  T, p. 4
	10.  F, p. 8
	19.  T, pp. 12–13

	2.  T, p. 4
	11.  F, p. 8
	20.  T, pp. 14–15

	3.  F, p. 5
	12.  T, pp. 8–11
	21.  T, pp. 15–16

	4.  T, pp. 5–6
	13.  F, pp. 10–12
	22.  F, pp. 15–17

	5.  T, p. 7
	14.  T, pp. 12–13
	23.  T, pp. 16–18

	6.  T, p. 7
	15.  F, pp. 12–13
	24.  T, pp. 18–20

	7.  T, p. 7
	16.  F, pp. 12–13
	25.  T, pp. 20–21

	8.  F, p. 7
	17.  T, pp. 12–13
	

	9.  T, p. 7
	18.  F, pp. 12–13
	


MULTIPLE-CHOICE QUESTIONS
	1.  b, pp. 3–4
	10.  b, p. 8
	19.  c, pp. 16–17

	2.  c, p. 4
	11.  d, pp. 12–13
	20.  a, pp. 16–17

	3.  d, p. 4
	12.  c, p. 14
	21.  b, pp. 18–19

	4.  b, pp. 5–6
	13.  c, pp. 14–16
	22.  d, pp. 14–15

	5.  c, pp. 5–6
	14.  c, p. 18
	23.  a, pp. 15–16

	6.  c, p. 7
	15.  d, pp. 16–18
	24.  b, pp. 20–21

	7.  d, p. 7
	16.  d, pp. 18–22
	25.  b, pp. 18–21

	8.  d, p. 7
	17.  b, pp. 15–16
	

	9.  c, p. 8
	18.  d, p. 17
	


PROBLEMS
1. a. 1; b. 2; c. 4; d. 5; e. 3

2. a. LD; b. C; c. LD; d. C; e. EA; f. LD; g. C; h. C; i. C; j. EA; k. LR
3. b. 1, 2, 3, 4, 5, 6, 7 units of corn; c. 3; d. 21

4. a. curve will shift outward along good A axis but stay at the same point on good B axis; b. curve will shift outward along good B axis but stay at the same point on good A axis; c. entire curve will shift outward


SHORT ANSWER AND ESSAY QUESTIONS

	1.  pp. 3–4
	6.  pp. 6–7
	11.  p. 8
	16.  pp. 16–18

	2.  pp. 4–6
	7.  pp. 6–7
	12.  pp. 8–9, 11
	17.  p. 18

	3.  p. 4
	8.  p. 7
	13.  pp. 12–14
	18.  pp. 18–20

	4.  p. 5
	9.  p. 7
	14.  p. 14
	19.  pp. 18–21

	5.  pp. 5–6
	10.  p. 7
	15.  pp. 15–16
	20.  pp. 20–22
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